P

MAGNAFLOW

1967-1974 DODGE CHARGER7.2L | PART NO. 19303

BILL OF MATERIALS:

1. 2] INLET PIPE

2. X-PIPE ASSEMBLY
3. D/S MUFFLER ASSEMBLY
4. P/S MUFFLER ASSEMBLY
5. D/S OVER AXLE PIPE

6. P/S OVER AXLE PIPE

7. D/S TAIL PIPE (GTX)

8. P/S TAIL PIPE (GTX)

9. [2] TAIL PIPE (SATELLITE)
10. [2] 2.50" TURN DOWN TIP

HARDWARE KIT:

1. [1] Hanger Brkt. Assy. (Satellite)

2. [1] Hanger Brkt. Assy. D/S (GTX)
3. [1] Hanger Brkt. Assy. P/S (GTX)
4. [2] Hanger Rubber, 2-Hole

5. [2] Snap Grommet

6. [2] Tip Hanger Bracket

7.[8] 2.50" Clamp

8. [2] Bolt Hex 3/8-16x1.75"

9 [2] Bolt Hex 5/16-18x1.00"

10. [2] Nut Hex 3/8-16"

11. [2] Washer Flat 3/8"

12. [2] Washer Flat 5/16"





